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QUESTION 1

Which three configurations would increase data transfer rates in a volume SnapMirror environment for traditional
volumes?

A. The destination volumes are flexible volumes.

B. The destination and source contain disks of the same size.

C. The destination and the source contain RAID groups of the same size.

D. The destination and source contain the same number of raid groups.

E. The destination and source storage systems are no father than 30 meters apart.

Correct Answer: BCD

By aligning the performance of the source and destination, optimal data transfer (aka replication) rates can be attained.

Flexvols don\\'t matter, and there is no measurable difference between the performance of a network over a 30m or 3m
cable.

QUESTION 2

A NearStore license increases the amount of concurrent replication streams.
A. True

B. False

Correct Answer: A

QUESTION 3

Which two choices are used to configure a semi-synchronous SnapMirror relationship? (Choose two.)
A. throttle

B. visibility interval

C. outstanding=3s in DOT 7.2

D. using option semi-sync in DOT 7.3 and higher

Correct Answer: CD

QUESTION 4

Which system is recommended as a secondary system for SnapVault?
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A. 1S1200

B. DataFort

C. NearStore VTL

D. FAS with NearStore license

Correct Answer: D

QUESTION 5

Which statement applies to the Open Systems SnapVault Free Space Estimator utility?

A. This utility runs automatically after each transfer.

B. This utility must be enabled on the secondary storage system.

C. This utility determines if there is sufficient disk space available on the primary to perform an OSSV transfer.

D. This utility determines if there is sufficient disk space available on the secondary to perform an OSSV transfer.

Correct Answer: C
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